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QUIZ MASTER

Grand Quiz(CS101)

100% correct solution.
For more information you can visit my channel and for
any type of help related to CS619 you can contact me.

YOUTUBE CHANNEL:
https://www.youtube.com/channel /UCINsFwDiB62SValCcPDZbRQ/playlists

FACEBOOK GROUP:
https://www.facebook.com/groups/923887914750307
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CS5101:Grand Quiz

Question # 1 of 30 { Start time: 09:51:26 AM. 02 January 2021

connects computer over a large geographical area or world

O

Select the correct option
PAN i

MAN
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Question # 2 of 30 ( Start time: 09:51:50 AM. 02 January 2021

To control access to the printer, the must keep track of whether the printer has been allocated

Select the correct option

o S

Operating systems

b d

Windows
0 N\

Booting
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C5101:Grand Quiz

Question # 3 of 30 { Start time: 09:52:25 AM. 02 January 202

loop structure referred to as a posttest loop

Select the comrect option
While 2
Repeat

0 @

For each
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Question # 4 of 30 ( Start time: 09:52:42 AM. 02 January 2021

By using MPEG and MP3 compression techniques. video cameras are able to record video within

Select the cormect option
1258 GB storage

28 MB storage :
128 MB of storage
. &
L N\

& GB storage
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2: Who introduce the idea of storing the program in main memony? 5
S 4
S 4
S 4
S P4
S P4
S 4
2: Select the correct option V 5
S John W.Mauchly b 4
S O 4
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S 2
g John Von Neumann % 4
Q ke

> 4
$ % 4
> J.Presper Eck 4
S o Q. 2
$ 4
$ 4
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> Konrad zuse £
$ b4
S O b4
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S Question # 6 of 30 ( Start time: 09:53:16 AM. 02 January 2021 ) Total Ma 1
2 In the reverse engineering process, what refers to the sophistication of the design information that can be extracted from the source 5
code?
S 4
S 4
S 4
S 4
z Select the correct option 5
S interactivity 1
S o g
S 4
S completeness 1
: ~ O :
\ b 4
S 4
‘:\ abstraction level % 5
Q O
be 4
Q <
) direction level (
Q <
$ © 3
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C5101:Grand Quiz

Question # 7 of 30 ( Start time: 09:53:35 AM. 02 January 2021 )

When we use tag while searching it shows only particular pages related to it.

N

Select the correct option
@

O &
¢

ETH

®
b _d
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Question # 8 of 30 ( Start time: 09:53:50 AM. 02 January 2021 )

In C5, we store and link data in an organized way using

O

Select the comrect option
SOLC 2

DBEMS

O

b
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Question # 9 of 30 ( Start time: 09:54:05 AM. 02 January 2021 )

Termination condition 15

Select the comrect option

Megation of the condition appearing

r V
bd v
Supporting condition

Halting process §
LDgic&
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Question # 10 of 30 { Start time: 09:54:19 AM, 02 January 2021 )

If we are interested to see the map of some location, we can use map operator in the following way:

Select the correct option
Location: map 2
Map: Location

5 Mph: map &

Locations
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Question # 11 of 30 ( Start time: 09:54:35 AM. 02 January 2021 )

The node or PC which sends requests for services is called

Select the correct option
Server
Client

® @

ISP
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Question # 12 of 30 ( Start ime: 09:54:51 AM. 02 January 2021 )

Which of the following technology is not related to the client side working?

Select the correct option
Java applets
Javascript
FHP x
ry \
CHIE N

HTML
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CS101:Grand Quiz

Question # 13 of 30 ( Start time: 09:55:10 AM. 02 January 2021 )
In binary Addition 1+01is =

Select the comrect option V

G

3
o
N

O

O
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C5101:Grand Quiz

Juestion # 14 of 30 ( Start time: 09:55:28 AM, 02 January 2(

Computer does not understand any language except:

Q™

Select the correct option
Machine language §
Aszem b&%

Binary language

®
)

Programming language
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C5101:Grand Quiz

Question # 15 of 30 ( Start time: 09:55:45 AM. 02 January 2021)

CPU required at least to fetch the instruction from memaory.
Select the correct option
Two nanosecond V
— \a
b d

Manosecond

O @0%
N\

Three nanosecond

° Q@

Cne billion second
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Kilo byte

S E 2
2 Unique bit 5
S D g
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S 4
g Byte <
S O & :
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$ N\ g
3 Q~ 4
2 Bit $
S O 4
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C5101:Grand Quiz

Question # 17 of 30 { Start time: 09:56:13 AM. 02 January 2021 )

Which of the following is a disadvantage of a linear search?

Select the correct option

RHequires more space

O

Greater time complexities compared to other searching algorithms

N\
b
Mot easy to understand :

Mot easy to impleme

P A A AL AL AT A A A A e e e el el el ol el el el N ol ol ol ol o a0 o o o o o o o o ol o o e o el e
A %0 Y20 R W o Vo e e e M M M2 T2 T2 T T PR MR Ph P S Pt Ve Ve S 20 Y20 Y20 W W W W 2 2 e R P P % % % B R 9

PP LSS LS PP PLLL LSS LSS LSS LSS LLLLLL LSS LS SSLLLLP PSSP



\\\\\\\\\\N\\\\\\‘\‘\‘\‘\‘\‘\\‘\‘\\‘\‘\\\\\\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘V>
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Question # 18 of 30 { Start time: 09:56:29 AM. 02 January 2021)

In digits on right side represent the fractional part.

\Y;

Select the correct option

Fraction

S\,

Decimal

0 AN
N

Hexadecimal

Binary

1 jaldi m miss hogya ®
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C5101:Grand Quiz

Question # 20 of 30 ( Start time: 09:57:00 AM, 02 January 2021)

The control of & loop consists of the activities.

Select the correct option
Two 2
Three

D @

Five
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Question # 21 of 30 ( Start time: 09:57:31 AM. 02 January 2021 )

Step wise refinement is a methodology in that it progresses from the general to the specific.

N

Select the correct option

Bottom up 6
: O
Top down \x

A
Left to right
Right to left
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C5101:Grand Quiz

Question # 22 of 30 ( Start time: 09:58:04 AM. 02 January 2021 )

Which kind of server work as an intermediate between the client and server.

Select the correct option V
Client server z ?
Server computer §6

Super se wer&

Proxy server

O

O

b d
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C5101:Grand Quiz

Question # 23 of 30 ( Start time: 09:58:38 AM. 02 January 2021 )

The impact of truncation error can be reduced by using

O

Select the correct option
Longer exponent field 2

Paositive exponent field

O Fﬂatna@:n

Longer mantissa field

O

b _d
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Question # 24 of 30 { Start time: 09:59:12 AM. 02 January 2021 )

When you type a query in the search bar of google. Google finds all those pages which contains

V

Select the comrect option

All the terms given in the query
-

Mone of the terms given in the

O

Some of the ter@%hthe query
O

Random
O
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Question # 25 of 30 ( Start time: 09:59:32 AM. 02 January 2021 )

Software units that communicate with controller or sometime directly to peripheral devices called

Select the correct option V

Utility program

System software §%
Device drivers %

F

ke

Operating system

O
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z Related memaory cells v 5
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S 2
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2 Registers :;
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C5101:Grand Quiz Qui

Question # 27 of 30 ( Start time: 10:00:04 AM, 02 January 2021 )

Post test loop structure refer to?

Select the correct option

Test for termination is performed gefoMathe body is executed

Testfor terminatiun@ned with the body is executed

Test for termination is performed after the body is executed

b d

Test for termination is performed as well as the body is executed
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Question # 28 of 30 ( Start time: 10:00:21 AM. 02 January 2021 )

Approximately how many entries a typical dictionary in a word processor can contain?

Select the correct option V

25,000 entries

250,000 entries ;
28,000 Qlé E

More than 250,000 entries
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Question # 29 of 30 ( Start time: 10:00:40 AM. 02 January 2021 )

Previously how many bits were used to store 2's complement notation.

Select the comrect option
5 bits i
16 bits

R

125 bits
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Question # 30 of 30 ( Start time: 10:00:56 AM. 02 January 2021 }

Breaking the tasks into a number of subtasks compatible with the number of available processors is called

Ny

Select the correct option

5 Load Balancing 06
Scaling \x@

Interactive F‘mcesm:g
Throughput
O
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